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Section – A

1.	 Which of the following is incorrect ?
	 (a)	 rational numbers are closed under addition
	 (b)	 rational numbers are closed under multiplication
	 (c)	 rational numbers are closed under division 
	 (d)	 rational numbers are closed under subtraction.
2.	 If M is the reciprocal of a rational number N. Then the difference of product of M & N and 1 is:
	 (a)	 MN	 (b)	 MN–1	 (c)	 0	 (d)	 not possible

3.	 The denominator of the rational number 5.2 in the p
q

 form is:

	 (a)	 100	 (b)	 6	 (c)	 5	 (d)	 1
4.	 Which of the following statements show the distributive law for rational numbers x, y, z ?
	 (a)	 [x × y] + z = (x + z) (y + z)	 (b)	 [x + y] × z = xz + yz
	 (c)	 [x × y] × z = x × z × y × z	 (d)	 none
5.	 The rational number which does not have a reciprocal is : 
	 (a)	 5	 (b)	 not defined	 (c)	 no such number	 (d)	 0
6.	 The rational number equal to its negative is 
	 (a)	 1	 (b)	 –5	 (c)	 0	 (d)	 no such number
7.	 The sum of negative of negative of a number and negative of positive of the number is :
	 (a)	 the number itself (b)	 0	 (c)	 1	 (d)	 none
8.	 Which of the following is the largest negative integer? 
	 (a)	 –999	 (b)	 0	 (c)	 –1	 (d)	 does not exist
9.	 Which of the following is the largest set of numbers? 
	 (a)	 whole numbers	 (b)	 integers	 (c)	 rational numbers	 (d)	 natural numbers
10.	 A rational number between half of 5 and half of 7 is :  
	 (a)	 2	 (b)	 5.5	 (c)	 6	 (d)	 3
11.	 When we divide additive inverse of 3 with the multiplicative inverse of 3,the result is :  
	 (a)	 – 9	 (b)	 0	 (c)	 1	 (d)	 3
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is an example to show that:  

	 (a)	 addition of rational numbers is commutative	
	 (b)	 rational numbers are closed under addition
	 (c)	 addition of rational numbers is associative	
	 (d)	 rational numbers are distributive under addition
13.	 Which of the following expressions show that rational numbers are associative under 

multiplication ? 
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14.	 Which of the following statements is always true ?

	 (a)	 x y−
2

 is a rational number between x and y

	 (b)	 x y+
2

 is a rational number between x and y

	 (c)	 x y×
2

 is a rational number between x and y

	 (d)	
x y÷
2  is a rational number between x and y

15.	 The reciprocal of 
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−45
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	 (b)	 45
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	 (d)	 none of these

Section – B

1.	 Find six rational numbers between 
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3.	 Using appropriate properties find:
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	 Verify associative property for multiplication for the following:
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1.	 (c)		  2.	 (c)	 3.	 (c)	 4.	 (b)
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	 Associative property for multiplication

		  x × (y × z) = (x × y) × z

	 LHS:  x × (y × z)
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